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COMPUTER SCIENCE (Theory)

(Common for Science, Humanities, Commerce and Agriculture Groups)
(Punjabi, Hindi and English Versions)
(Evening Session)

Time Allowed : 3 Hours Maximum Marks : 50

(Punjabi Version)
a2: () w2l §I9-yzdt @ oelem B '3 fewr-dm/a-dy @@ wE
[eRT-35/G-3F 146/B 79T T 3 |
(i) GI9-Vadt 82 o fom & & farx @ O BE 1y o fow odhes Al 28 U
I8 T Bl FHET TS |
(iii) §37-Y3d Ry vl v /iy &5 § g Iz 3 T° YW /s o
HBEE 3J] di5T T |
(iv) YHE-YIT 3 135 591 - T 6, TaT »f w3 7T & (57 S Fopo &
) I 6 129 18 THIIBHE YHE T8 7 1-1 wa & T& |
(i) T o [G9 552 B35 T8 YHE T& 7 4-4 wa & T |
(vii) T EIST 2 TF B3I @8 YHE T 7 6-6 W 2 I |
(viii) T &, # 73 & & H'G YHE STH T | T o w3 I ¥ o wiegat I

o, '
g € |
1. v g 39/Adt 77 I3 ey . 6x1=6
(i) - gy feu deds 8tms § By & vt 3 ufost ewe dfter wie
| 1
(ii) HHTET Jt 3t iHdt wdt It | I
(iii) BT (Layer) 3 JtAEHT q95 St g8 g™ wieT J | I
(iv) 7€ IFdg § deov 3T wiwr J 37 andda o annfedt wedt 9 1
v) 33§ waw w95 I 372 afsy § it e dger Jor 3
(R T53) 1
i) ¥ § Tl 3 @ § U ume i e wer 3 | (FRAaE3) 1
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9, uJ &M fod
A WYSIWYG

an UTP
() FTP
(v GPS
(vi Al
i) UIDAI
3.
(g) fsdiesemns (7) &2 gfaa
(v) Bt-dredsH I AR w3 Afewre @ mufaa gu 5
(8) ¢t-fawsn () E-aHIR
(®) ¥t-wafefra v (A) WHIe IEIER
(v) Shift + C Agcde dtnf (aft) T
(8) 3zudtae fera safs &
(n) Bm3 § MBS (Delete) o
(2) 3IW<9 § at (Copy) 335
(F) 3WRT 3 TV (Crop) 95
fm@ﬁféﬁ-mﬁmw@&'e@mé farm ¥ = 2
(8) wrem (1) éﬂ-_;,@
(B) <MsG witmms (F) 3R
gafﬁ T8 YRS TR
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g, fozEanws daa B &l d v

4
8. fftemdine 3 &t g 8 ¢ 4
o
i -mafdar &t 3 ¢
3. ¥-I=EEn © 95 (ug fagd a5 2 aeardt b | 4
_ p Tanfla faem few & | 4
-\
MH.MH. NS feg 3ayd ot 5 2
| TAE
& G T8 YHE 2x6=12
9. madiferns Bt Hf =93 2 {39 o3-faa3 75 2 392 o6 | 6
"
maAyge faren i feRmaret a3 o |
10. &2=9x W39 ot I8 ? fan @ 135 deega wagt o =95 a7 | 6
T

cfenfes Ung aus ft I 7 fene afee w3 saws o9 g |

. (Hindi Version)

Ae: () AT IH-JRAH F JG I8 T 9-%18/IR-F18 @15 @1 ¥ A57-#2/90-FE
146/B 373¥9 ford |

(ii) ;ﬁ;-gﬁwé#ﬁm%wméwﬁﬂwﬁwﬁaﬁazsﬁgwmm
/

(iti) IW-FrHT 7 GIel S18 T 98/981 # TaIT &e7 [T 7T 597/T7 FT G qHT T
11 e |

(iv) X¥9-93 &7 91 — Y &, ST @ IRy r g 7 8 )

(V) YMFFIBTGHETAEN1-137FF&

i) YmE@FsoRITAITTENI-4 35§/

(vii) YT T F2 9 FoT AR A E T 6-6 HF F §

(viii) YT %, @ 3N T & qft 397 A & | ymr @ 3 7 F saRE REcg Pe e §

W &

L. R v wite/adt @ e fofa . 6xI=6
(i) o9 A HgA HEH FI Y A A v7R 3w v wman R | !
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(ii) ayiil it H1E ourf 77 2 | ]

(i) ot (Layer) & f(H'ISG F4F ﬁ‘m ¢ TLAGTA FA T 7 ]
(iv) 99 =i Hl fa w1 2 A" Aedn £ TS 72 TA 2 ]
(v) difed w5+ | e fFem F1 F3 7= G afen a2 7777 !
(vi) dl H TR F W F 9f= el § n T 2 | (FE /7, ]
2. W fofam 6,1=F
(1) WYSIWYG ]
(i) UTP ]
(ii) FTP | ;
(iv) GPS 1
(v) Al 1
(v1) Al 7
ol it il 6,1=6
(i)  =fom 3 o i Ff9 & oo $ (F) = =m= 7 2 ;
(%) Ctrl + F7 (@) Alt +F7
(m) F7 () Shift + F7

(i) SO TR (IT) U T &9 3 Fms 20 soqer o1 57 i marmn
(RIS, HIFEIH) F T Selagiah 21 7 7979,
a1 AGH-IEH F4 & e famay 57 2

I
(%) wHm F (=) wiFn w73
() wfofes # (3) &9 F13
(i) # W G F FORT U A w H s g s ,
(&) dfin @) §am o
(m) fefeemzasm (9) T2 #fFn
(iv)  3-TEH8 H HI3A 3 glawsh w5 s = .
(%) 3-fawm (@) 3FmH ‘
(1) 3-8fdaq (7} T madim
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(v)  Shift+C & widwme A (F0) B o
(F) g=fiohe o w1
(@) o= =t fien
() TR H F (copy) FA
(9) &R 1 %719 (crop) FH

wi) 3 e F di @ A T e e E |
(%) IJIa (@) dife
() dfifsar ofsem (9) aefi
@
gie I qreT I
4. While ®THZ F1 ® 2 386! S91G¢ (syntax) frRaT |
5. IHHYA Jarastt (Information Technology) 1 27
6. Tefreamsssa w22
3rera
AT TR 2
7. 3aEE % @S9 T8 2 THSR JEH T |
g8, Hmfen feee # quZTIT |
AT
MSExcelﬁﬁT@EﬂT%?
T T
T2 I aT FIT
9. aﬁhﬁéﬁ%ﬁﬁﬂg&%ﬂmﬁﬂﬁa’iﬁmm%?@hﬁﬁ?l
SO

Tvs firen ) fsieared & R # == HINT |
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(English Version)

Note: (i) You must write the subject-code/paper-code 146/B in the box provide
title page of your answer-book.

(ii) Make sure that the answer-book contains 28 pages (including title page) and
are properly serialled as soon as you receive it.

(iii) Question/s attempted after leaving blank page/s in the answer-bo
be evaluated.

(iv) Question paper is divided into three parts — Part A, Part B and Part C.

(v) Part A has 18 objective type questions of 1 mark each.

d on the

ok would not

(vi) Part B has 5 short answer type questions of 4 marks each.

(vii) Part C has 2 long answer type questions of 6 marks each.

(viii) All questions of Part A, B and C are compulsory. There is internal choice in
Part B and Part C. https://www.punjabboardonline.com

Part A
1. Fill in the Blanks/True or False : 6x1=6
(1) In loops, the control conditions are tested before the body of loop. 3
(11) machines have no memory. 1
(111)  To resize the layer tool is used. 1
(iv)  The quality of the picture decreases when the picture is ; 1
(v) Merging a video means splitting the clip into several parts. (True/False) 1
(vi)  The process of making a movie is divided into five stages. (True/False) 1
2.  Write the full form : 6x1=6
(1) WYSIWYG 7
(i1) UTP ;
(m) FTP ]
(iv) GPS ;
Al
(v) ;
(vi)  UIDAI ;
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3.

Multiple choice

(1)

(1)

questions

To check spelling and grammar
adr Ctrl + 17
() F7

___ keyis used.
(b) Alt + F7

(d) Shift + F7

Information Technology (IT)
physical devices (hardware,
secure and exchange electronic data.

6x1=6

i an area under which computers or other
software) are used to create,

1
(@) access (b) process
(¢)  define (d) save
(M) ____ is the process to convert information into computer readable form. 1
(a)  E-learning (b) E-Commerce
(¢)  Digitalization (d) Net Banking
(1v)  The modern form of E-Governance services and facilities is : 1
(a) E-Business (b) E-Commerce
(c) E-Services (d) Smart governance
(v) Shift + C is the shortcut key 1
(@) To create duplicate image
(b) To delete a layer
(c) To copy an image
(d) To crop an image
(vi)  The effect applied between two video-clips is called 1
(a) sound (b) wvideo
(c) video transition (d) photo
Part B
Short answer type questions 5x4=20
4. What is While statement ? Write its syntax. $
5. What is Information Technology ? 4
6. What is digitalization ? .
OR
What is e-learning ?
; . £
7. What are the three levels of E-governance ? Give detail.
-4
8. Explain formatting in detail.
OR
What are formulas in MS Excel ? [Tumn over
146/B-SS £

(3 scanned with OKEN Scanner



Part C

Qx6=12
Long answeer tvpe questions
: 6
. o e - ? ain.
9. Inwhich areas do we have applications of artificial intelligence : Expl
OR
Discuss the characteristics of expert systems.

| 6

10. What are network devices ? Describe any three network devices.

OR
What is a twisted pair cable ? Define its advantages and disadvantages.
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